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SN B2

HE: VYA Ay B

o9 TR 42T B (B9 ®R)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
202 o4 | 55,600 5,720 49,880
01 2 Y 5,600 5,720 A 120

OLAMNBHAAR & BLRIAAZ, HESH /32
& A0 200,000& * 53| 1,000
OEXNEZ2R2E Ws0H|
230,000& = 100! * 23| 4,600
04 = Hl st dl 50,000 0 50,000
O2=24Y oIele s 258
1,000,000& = 500! = 13| 50,000
303 ZA& 2 40,000 36,000 4,000
01 LAZ 40,000 36,000 4,000
OZ22d =353 849Hl N
1,000,000& * 2074 20,000
OoREz=22d 23 E
250,000& = 400! * 13 10,000
OL¥2 2 TP GEAUT
250,0008 * 400I& 10,000
309 =2 897 35,884 N 34,987
02 22/AZ AU ZB2HIAMNNEZ 897 35,884 N 34,987
O=D00ETZ 2YRLS3
897,0008 * 1&D| 897

222 MEHESE XE 182,112 180, 829 1,283
101 e1214| 182,112 180, 829 1,283
04 J|12ZtHIZ22NEES 182,112 180, 829 1,283

OsMEI M B 37,268
oJlea 51,760 = 102! « 60 31,056
OF&xY 51,760& * 10Q = 12= 6,212

od=Eged"g=2 15,444
LI

1,300,000 = 10Q! = 4.5% ~ 12& 7,020
oAYPHERYD

1,300,000 = 10Q! * 3.1% ~ 12& 4,836
onsRERY3

1,300,000 = 10Q! * 1.5% ~ 12& 2,340
ONEEEEZ

1,300,000& = 10Q! = 0.8% ~ 12& 1,248

OF0EA UHOHE B 129,400
oJleaz 51,760& = 102! * 200 103,520
O=E2Y 51,7602 * 109! * 50 25,880

SR ALSE K& 3,000 3,600 A 600
201 et 3,000 3,600 A 600
01 AR 22l ] 3,000 3,600 A 600




SN B2
HE: VYA Ay B
o9 TR 42T B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OfNd 2d204d sAzel
250,000& ~ 12€ 3,000
AZX=S2 45,000 150,000 A 105,000
307 2Iz2t0| A 45,000 150,000 A 105,000
07 A2 =23 45,000 150,000 A 105,000
OZ22JMolEx=2 5,000,000 = 29I 10,000
OBRJINE AIXXR2 35,000,000& = 14! 35,000
SHAl¥=2Y(SHLAH) 1,315,050 1,315,050 0
=0 #HHXH 1,315,050 1,315,050 0
301 et A= 1,315,050 1,315,050 0
0 SHE -0 -EHEESEMN= 1,315,050 1,315,050 0
Og 9% 0l& £ 200,000& = 3902 = 12& 936,000
O -d 0|& 42
200,000& = 3902 = 23] 156,000
O - % 0% slo+g
20,000 * 3902 x 23] » 12& 187,200
O8 - ™ ota ¢ 25,000 * 7178 * 23| 35,850
WEESE I8 = 322,392 327,012 N4 ,620
& 4,800
= 317,592
N EmE= == 58,110 39,950 18, 160
ASEZRAAOHZEA 19,000 8,400 10,600
201 B9 3,000 3,300 A 300
03 A2 G| 3,000 3,300 A 300
OXOHZEA HEol23twWE 1,000,000 = 13| 1,000
OXOHZEA AZX NFHA
1,000,000& * 24 = 13| 2,000
301 et A= 16,000 5,100 10,900
07 QBl=&E 0 bl 15,000 4,800 10,200
OXOHZEA He&lol =30
200,000& = 32 = 20¢Ql 12,000
OXHZEAHAH AZXESSQ ZFHOWH
30,000 * 221 = 500! 3,000
09 HAIAHIBEAZ 1,000 300 700
O -2t &0l H20dl 50,000& = 20¢! 1,000
MEZR TJOHEA 4,000 4,000 0
301 et A= 4,000 3,500 500
07 2B = 04| 3,000 2,500 500
OXOHZASH =30 H|
30,000 = 25Q1 % 23| 1,500
OXHZEHA AZXESSQ =& |
30,000 = 25Q1 % 23| 1,500
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¥y DB JY 1S
Sl 2HDEE CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
09 HAIAHI EAZ 1,000 1,000 0
OXNHZEHASH NFHAHER)
50,000& = 20¢! 1,000
= s+ U 4,000 1,000 3,000
202 o4 H| 1,000 1,000 0
01 2Ll 1,000 1,000 0
OUETAl &2 04l 100,000 * 5021 % 23| 1,000
301 et A= 3,000 0 3,000
07 QBl=&E0 bl 3,000 0 3,000
OXHZ2ASH™ =& Oyl
30,000 *« 12 * 2501 % 23] 1,500
OXHZEAH AZXESSQ =& Y|
30,000& = 25Q! % 23| 1,500
BN BME=S=-R= PR 31,110 26,550 4,560
201 LBt ]| 11,300 13,500 N 2,200
01 AP 22| H| 8,800 11,000 A 2,200
OfgerE=4] 6,000
OgesEsE EAMAERY 30,000& = 20074 6,000
Olgxz] 2,800
OXNMEA ¥ 2R3 @2 IS
2,800,000& = 1Al 2,800
03 A2 EH| 2,500 2,500 0
OXOHZ2ASH =S A 1,000,000& = 13 1,000
ORSVHFHH(HSAY) =HHA
1,500,000& = 13 1,500
202 044l 12,810 4,050 8,760
01 2L I 12,810 4,050 8,760
OXOHZASH A2SHAF A 0HI
120,000& = 521 = 33| 1,800
OAXSY &3 AZSAL &4 014
112,5008 = 5Q1 = 43| 2,250
O2UW XNOUHE Al B2 S3HEY Yl
120,000& * 732l 8,760
301 et A= 7,000 9,000 A2,000
07 2Bl == 0 H| 5,000 7,000 A 2,000
O0HSAIEA A4 WE =& 04l
50,000& * 2& * 502 x 13 5,000
09 HAIAHI EAZ 2,000 2,000 0
ONEEANEEYLxH 100,000 = 209! 2,000
eI eSS == 59,900 77,200 A 17,300
QEdtNEgs 10,000 9,900 100
201 Bt 1,000 900 100
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Ha: DRE I8 1S
oelr 2N EERED
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
03 A2 Z Hl 1,000 900 100
OgE KO TAlLEM =HBA
1,000,000 * 14 1,000
301 et d = 9,000 9,000 0
07 2BI=& 0 bl 9,000 9,000 0
Oga X SALEM =& 0
300,000& = 3 = 521 « 23| 9,000
E g = = 37,500 57,000 A 19,500
201 Let24d] 3,500 3,000 500
01 At 22/l 1,500 1,000 500
oZgs=2Es 7Y 150,000& * 105 1,500
03 &Ar2 I 2,000 2,000 0
OFAEUZstuFdHAL 2 2,000,0008 ~ 12 2,000
301 et A3 34,000 54,000 20,000
06 212toI =2l 04 Hl 24,000 36,000 A 12,000
OSIFTHNRANEL2EFLEZTNE Y2
1,200,000& * 209! 24,000
07 2BI=& 0 bl 10,000 18,000 A 8,000
OZ= X0 T AlLEHM =&F0HI
200,000& = 22 * 25¢! * 13 10,000
=2duFEAI 12,400 10,300 2,100
201 Let2d] 10,000 7,900 2,100
01 At 2teltl 5,000 2,900 2,100
Os28 gzl P2¢ 200,000& = 104 2,000
O2=01 S 100,000& » 62 53| 3,000
02 2324l 5,000 5,000 0
OZMKNINsEES 5,000,000& = 14 5,000
202 O4dl 2,400 2,400 0
01 = LH 4 Hi 2,400 2,400 0
O=2 nNIRYPFA
20,0003 = 3¢ * 44 » 103 2,400
M3 4 139,000 143,700 24,700
ALSI S HI KT 139,000 143,700 24,700
201 2et24d] 6,600 3,300 3,300
01 At 2teltl 6,600 3,300 3,300
Olget+gl] 6.600
OMNBIBHSZ ASXY Y +42
300,000& = 12& 3,600
OMBISHEZ HIGHHEEY B +42
250,000& = 123 3,000
202 O4dl 2,400 2,400 0
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Hu: MRS AEARS
ool HESH DT CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
T AEHZXEUY 270,000 0 270,000
01 A& HI 270,000 0 270,000
O=NEESHY &5 =
270,000,000& * 14 270,000
HdESAAE 7R 22 241,067 96,851 144,216
201 Let249] 168,767 81,851 86,916
01 At 22/l 16,500 12,072 4,428
Olger=2tl] 16,500
OFMXEUH(Z, 89 24I) 50,000& * 10& 500
OEHXNA IEMSI el 2
250,000& = 404 = 13l 1,000
O&dstH(AHOIZ) 1,000,000 * 14 1,000
OLANAIOIE #¢¥ 4,000,000 = 14l 4,000
O LANIHEIH 2 ¢ 50,0003 50 A 2,500
Og=X0ls ¥ PVCEE 2,000,000& = 14 2,000
OFUSA M7= NM
3,000,000& * 1JH 2 3,000
OHUZHUSHL(LAN)S s1E7Y
2,500,000& = 14 2,500
02 =224l 152,267 69,779 82,488
O[AIE &BIRXIEI] 152,267
OHFNMSY FANE= 31,000
o ClHUWASE MW, JIE=EX RAEE
8,000,000& = 1—! 8,000
o CIHUWASII ¥ JIEHEI] RAL
14,000,000& = 1’45 14,000
o MEB2 A%IX, AHEHEBUPSEHI
8,000,000& * 14 8,000
0O UHALE WA XS4
1,000,000& * 14 1,000
O=NEESUY RAE=+ 66,000
o YSSHEHI(WN)RXE S
9,000,000& = 14 9,000
o SAAHOES(F UTP)RRIE S
4,000,000& = 14 4,000
o HERIFLI(2IRH , ARAEFE)RXE
= 18,000,000& * 14 18,000
o F&Hl RANE(HE 14,17, S8L)
20,000,000& = 14 20,000
0 QosERHE(MAZH)RXES
10,000,000& * 14 10,000
o Li=gsty A |2+
5,000,000& = 14 5,000
OLSTAE 2 IHANE FANES 55,267
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L= B
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02 0% O
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O om &

u

1
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
0 SASIAAAE FANE=
20,000,000& =« 14l 20,000
o IPEAMSEANAE SAB=
85,240,000& * 8% » 1.1 7,502
o HU YBEANE RXNES
28,500,000& * 8% * 1.1 2,508
o U CATVY ZSAE |RIES
30,000,000& =« 8% * 1.1 2,640
0 SIoAl (oA Yata T HA)SE A
FAE 5,000,000& = 14 5,000
o ALEESI RANES
12,690,000& * 8% * 1.1 1,117
o MOF= Xl 2 == 3,500,000& * 14 3,500
o SEHAIEAIAE(UMS)R X2 2
2,000,000& * 14 2,000
o U= oa Ha S FHl =44l
1,000,000& * 14! 1,000
o FAXEetEH|l =2t 1,000,000& * 14 1,000
o QIHIUWHESE I +46U(S45D,2E)
50,000& = 1004 5,000
o &1} S4IHIUPS ==& Hl
2,000,000& = 14 2,000
o g2gsIl nE=Lll
2,000,000& = 14 2,000
202 04 dl 1,000 1,000 0
01 = LH YI 1,000 1,000 0
OFESUISAL AFZEEHZ AL SEE I
20,0003 = 201 » 25¢ 1,000
405 THabH S| 71,300 14,000 57,300
01 XA = ZH SHI 71,300 14,000 57,300
OL= FAXLA 1,000,000 * 5CH 5,000
OdZyMs HE 54 100,000& * 1003 & 10,000
O#HFHESI| == WA 300,000& =« 30CH 9,000
OWEDI| M/GIHE 72 (ADTM,ASLM)
3,300,000& = 1CH 3,300
Qe (otg2 ] SHIIHE NATM)
2,500,000& =« 1CH 2,500
OUE<RZ A<IX S04 3,000,000& =« 5CH 15,000
OBFY [PRASBAA LI (SH)
19,000,000 * 14 19,000
O&oa ZZ2HEZ A2HIol&
4,000,000& = 14 4,000
O&EUY gs HESZ J|)| 3,500,000& = 14 3,500
dESNL 2F 2 732,838 697, 156 35,682
201 et 466,338 439, 156 27,182




SN B2
Hu: MRS AEARS
&?e: FE2S4 D&
SN BB (HA) - MM - BES 0l &t o il
02 =224l 466,338 439, 156
Ol2=22324 Al 466,338
OCHUWANSIAES 270,000& = 123 3,240
OEESUAFAX & H3t St &
225,000 » 123 2,700
O MY 22 022
600,000& * 12& 7,200
OslENS AHEZ(60H) 450,000% * 12& 5,400
OQESUEHOIK 2 AIEE
1,350,000 = 12& 16,200
O e Y3l & = (ADSL, GVPN, SDSL)
18,900& * 203l & « 128 4,536
O&-=Z2 01834z 1,260,000& * 1228 15,120
O &4l MEHMS(DID)AIEE
3,762& * 603l & * 128 2,709
Ogptdst MEZ 163,240
oAl EBtN3st SetE
40,000,000 = 14l 40,000
o A2l YB3t SetE
40,000,000 = 14l 40,000
o Olsdst Satz 80,000,000& = 14 80,000
o MBAMEER 270,000& * 123 3,240
odE3d OlL= 28,0008 * 203l & 560
OUBHE ABE(24, 224, 5HA)
135,000& * 3CH = 128 4,860
OXE3ld &4, dR(HAE)
15,692& » 153l & » 128 2,825
OXJEBEHMIH MEE(EIZ)
750,000 * 11JHA = 128 99,000
OZESUSH ArE = (256Kbps)
234,000& » 7oA « 128 19,656
O ZFESAsE A= (128Kbps)
67,500 * ML = 128 2,430
COSHIEESY HEIHMER
90,000 = 1084 = 12& 10,800
O=Z-ANEA-SH HIHS HAMES
15,691& » 953 & » 128 17,888
OzZ-d4aXNIdIZMeH AIEE
18,750& = 108l& » 128 2,250
ORALAMSI| AFEE 90,0008 = 3CH = 128 3,240
OEAXNA JMZA M3 MEES
75,0003 * 15002 * 128 13,500
O EHOIXl SMSAtE 2 100,000& * 123 1,200
OSEES(CATV)=AR 500,000& * 123 6,000
O SHAEE 3EANER(HS, BA)
25,0003 = 534 + 128 1,500




SN B2
Hu: MRS AEARS
e FE2SA D& (cho &)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OQUAAB AL NHANEZ(MSE0ISE )
411,163 ~ 1238 4,934
OZETAHE S B4 ANBR(IY 435)
412,500& ~ 123 4,950
OSEHARANAH OlE=
2,700,000& = 12& 32,400
OXIAZIUNS SSHAHABSEE MEZ
1,875& = 80004 » 123 18,000
T AEHIZEUY 20,000 258,000 A 238,000
01 A& HI 20,000 258,000 A 238,000
OSY S4FH HJALH &X
20,000,000& =« 14 20,000
405 XHobF S HI 246,500 0 246,500
01 AL 2 ZFH S| 246,500 0 246,500
O 23t 204 48,000,000& * 24l 96,000
OL7A=IXl W 26,500,000& = 14 26,500
OSgUAAX A 46,000,000& * 14 46,000
OEciz 22| AlAE (Qos) M (At A, SH)
78,000,000& * 14l 78,000
stEd =4 349,754 243,040 106,714
< 61,855
= 287,899
AF YSANAE RS 226,044 243,040 A 16,996
201 £B-2dH| 93,044 21,140 71,904
02 3323l 93,044 21,140 71,904
Ol3s22 < HMAl 18,000
O0=¥s dsat 2R
7,500& * 20000 A + 123 18,000
O[AIE &BIRXIEI] 75,044
OAIA =& 10,000,000& * 14 10,000
o¥ym =4 10,000,000& * 14 10,000
ONt2gsE RAEBHI(278M0HS)
1,668,000,000& * 3% * 1.14 55,044
202 odl 1,000 1,900 A 900
01 = LH 4 bl 1,000 1,900 A 900
Oltsgs A SE 0
20,0003 = 201 » 25¢ 1,000
401 A& BIZ 201 8I 132,000 120,000 12,000
01 A& HI 132,000 120,000 12,000
OSY OISEs HEAY
6,000,000& = 22JH0t=2 132,000
SHENY 2L 2= 94,874 0 94,874
< 47,437
[ 47,437
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Hu: MRS AEARS
Sl SMEY X4 SHol E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 94,874 94,874
< 47,437
s 47,437
03 BI2HCH & AF R HI 94,874 94,874
OsHEXS ZUHAL(BN) 2SALY
94,874,000& 14 94,874
< 47,437
s 47,437
=W 22X 200l +5 28,836 28,836
< 14,418
s 14,418
402 2I2H X201 M 28,836 28,836
< 14,418
s 14,418
03 BI2HCH & AF & HI 28,836 28,836
O 2+ZX 2A0IIO0l RSAL
28,836,000& * 14 28,836
< 14,418
s 14,418
2018 2= 1,078,463 256,549
= 12,064
< 13,440
[ia 1,052,959
HEFE 29 958,321 273,856
= 12,064
s 946,257
HHANAE ZH KX 107,903 A 13,859
201 Let24dy] 1,270 A 14,987
02 232gl 1,270 A 12,887
O[AM&EH R XYl 940
OMXI2elAlAE etoldA HE
940,000& * 14 940
o222 % HAll 330
OXdXCIRAER 20120l MHIA 02
165,000& * 2& 330
202 044l 1,260 0
01 S LHOIYI 1,260 0
OZSIIEtAIAE 22| =S
70,000& = 32! = 63l 1,260
308 XXM SOl A 105,373 105,373
10 B2 SO BAEH A 105,373 105,373
O3 SIIBAIAE RXNEB(BSI182)
812,400,000& * 7% 56,868
OANZHYSEALE RAEX(SSIIEH)
452,251, 742& * 7% 31,658
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O2EJ|8tAAE SXES(MHAQAZR)
1,701,000,0009 / 243 Al 232 7,000
OAZF MalERAAE X244
216,634,000 / 2200 Al 2 9,847
2N 22l 299,537 157,879 141,658
201 Bt 47,937 32,879 15,058
02 352494l 47,937 32,879 15,058
O[AMEZHI S XIHI] 47,937
O MIUZTHAIAH(BHIC)SKE S 18,907
o otEAN 139,900,000& * 8% 11,192
0o AZTEN 128,577,480& * 6% 7,715
OHEAXNDLANAE SALS
40,300,000 * 10% 4,030
O 2-LI2tAI A" SXIE% 25,000
o otEAN 15,000,000& * 14 15,000
oAMSATERN 10,000,000 = 14! 10,000
207 A FOH £ | 230,600 75,000 155,600
02 & A Y| 230,600 75,000 155,600
ONXEAN BOotAIAE A=
230,600,000& = 14! 230,600
308 AXISHXSO0IH 21,000 0 21,000
10 SISO THsHE A A& AN HI 21,000 0 21,000
oag AZTEN KX 22l
14,000,000 = 14 14,000
O2LietAIAE 2HXJ SEHI
7,000,000& = 14 7,000
M ALEH] 228 22| 293,580 338,023 N44 443
201 LEr2 Y| 154,580 143,023 11,557
01 AP 2t2l bl 102,033 90,476 11,557
OlgetL2H|] 102,033
O &A EHEH FL(0IRAIIBE)
45,000& = 60 2,700
OsteECIAa 75,000& * 4004 3,000
O Bo0ls4a HZel 60,000 * 504 3,000
oot 33,000& = 10H 330
OmZel 55,000& * 204 1,100
O CD-RW 80,000& * 10H 800
O IF (& 23 300W) 40,000& = 2004 800
OZgly ARH2E 72 300,000& * 1094 3,000
OBHEBEAZEYH 2 74,895
o I E&CSH 489,500& * 104 4,895
0 MS I A 2016 50,000,000 = 14! 50,000
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02 0 Of
0% HT 0
N
hT e

M0 4J

02 i

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o SF2NEO 20,000,000 = 14l 20,000
QUHHAIAZEY N F¢ 31,020& = 40074 12,408
02 E2=2=2%H| 52,547 52,547 0
O[AEZHISXdl] 52,547
O MALEH SXES
1,100,0008 = 925CH * 5% 50,875
OHASTLS NAEY SXB4
16,720,000 = 10% 1,672
405 XHo&HFE S HI 139,000 140,000 A 1,000
01 AL 2B F S| 139,000 140,000 A 1,000
O&ALEH 2 139,000
O¥EH 1,000,000 * 90CH 90,000
O LCD2LIH 250,000€¢ * 100CH 25,000
OZaH 1,000,000 * 20CH 20,000
O E+= 2 (PDA) 2,000,000 = 204 4,000
HAtA 2A 18,180 9,680 8,500
201 et | 9,680 9,680 0
01 AP 22| d| 4,800 4,800 0
OlgerL24] 3,000
QUAHAHOIZ 2 100,000& = 30 3,000
O[fensdl] 1,800
ONAH ME DEHI 450,000& * 491 = 13 1,800
02 B32%H| 4,880 4,880 0
O[AEZHI SXdl] 4,880
ogxas) SAESE 1,000,000 * 14! 1,000
O2HAMA HMAZIX (UPS)S K E4=H|
35,000,000 * 8% 2,800
O MNSIHA AZEHANAY SIE%
5,643,000 * 8% 452
OCCTV & EZLSHAAE RXEX
7,843,000 * 8% 628
401 AlEHIZ 2 0HY| 8,500 0 8,500
01 Al&H| 8,500 0 8,500
ostesasdl 4 4,250,000€ = 24l 8,500
ME 2|8t S &H WH £ ASBEoF AFAY 41,520 0 41,520
= 8,520
= 33,000
201 et 41,520 0 41,520
= 8,520
= 33,000
01 AP 22| H| 41,520 0 41,520
OMNME Z2ED|8t S &3H| WA & E8280r &4
StAIS 41,520,000 * 14! 41,520




SN B2
o FEIe RS
ool WHIE 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 8,520
s 33,000
ANZ 7 HolS2AIAE” 2= 15,601 15,601 0
= 3,544
s 12,057
201 ¢er24| 15,601 15,601 0
2 3,544
s 12,057
01 At 22l 15,601 15,601 0
OANZ 7 Mol SFAAE 2EAE
15,601,000 * 14 15,601
= 3,544
s 12,057
M2 HEEEAAE S WA 182,000 41,520 140,480
403 A X EHHSH20IA 182,000 0 182,000
02 SJ| 2SOl CHSH At 2 X CH & AF I 182,000 0 182,000
OAZF SSIIEAIAE ==FHl WX
182,000,000& *14 182,000
e 32 249 120,142 137,449 A 17,307
< 13,440
[ia 106,702
2302 Tz )2 NsY 66,159 66,432 A273
< 13,440
[ia 52,719
307 21201 A 66,159 66,432 A273
< 13,440
[ia 52,719
02 QAFAAFEX 66,159 66,432 A273
O&E3s0ts T2 54
66,159,000 = 14l 66,159
< 13,440
s 52,719
S HOIX &2l 32,383 34,643 A 2,260
201 Let2d] 32,383 34,643 A 2,260
02 232gl 32,383 34,643 A 2,260
OlB222%LHA] 1,254
O SHOIX =& MHHIA OIE2
165,0008 * 42 660
O ZMHOIXl Zole olg=  297,000& = 23] 594
O[AM&ZHI S XYl 31,129
OHAOIE SHE S H0X RXE=
162,420,000& * 10% 16,242
OFE AIAH RANES 14,887
o et 2,048,000& = 14l 2,048
o sgzlae 2,201,000& * 14 2,201
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SN B2
u: eI 2S
ool XY BE 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o ¥4y 2,929,000& * 14 2,929
o FolEciE ZtelAlAH
17,820,000& * 5% 891
o PCOHQIE L (PCA ) 44,000,000& * 5% 2,200
o SHOIX HAFE SBSAIAEH
26,200,000& = 5% 1,310
o U AAE(IPS) 36,247,0008 * 5% 1,813
o ZotusBatel Al A El
(23,721,060 * 5% / 12) *= 5¥€ 495
o MHEZ MO ZtelAlIAE
1,000,000& * 14 1,000
dEstns L FE0SEAMNE 2= 14,040 28,814 AN14,774
201 LBr2E| 4,800 5,244 Ad444
01 At 2t 2l 4,800 5,244 AN444
Olget=&Hl] 4,800
OxZUEESWNE Wi+
15,000& * 120&A 1,800
OZ2RAEESWU=E WM ¥ ZAE
15,000& = 20Q! = 102 3,000
301 et a3z 9,240 4,620 4,620
09 &AL HIB &S 9,240 4,620 4,620
Oz BEstus ZA=+=E
70,000& * 11AI2F = 123 9,240
230t 29 7,560 7,560 0
201 L2l 1,560 1,560 0
01 At 22l 1,560 1,560 0
Olger=&Hl] 1,560
OE282SY L HEE HME
10,000& = 2004 * 1OHOt= 200
OHESWE WM +&
20,0003 = 25& » 2J40t= 1,000
OZL30ISSEHA U 7L
3,600& * 2500 » 4JH0t= 360
202 04l 2,400 2,400 0
01 = LH YI 2,400 2,400 0
O&E=stots 2el ol
20,000 = 321 = 40 2,400
301 et A=z 3,600 3,600 0
09 &AL HIZB &S 3,600 3,600 0
O2Z/Ad XX HUIOLY  100,000& = 12¢l 1,200
OXNEX & T2 )d2A2 X nIsEA
50,000& = 521 * 23| = 4040t 2,000
OZ&Est0ts o3tdiol ns ZA=
100,000& = 4AI2F * 13 400
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2N

g 5—@ & Hztel
2 XYTXS A2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
28 &2l 89,976 0 89,976
PNR-APNUNE= Falw) BT el 89,976 0 89,976
XA A2 29 89,976 0 89,976
308 XtXIEHHSOIA 89,976 0 89,976
MOIIERES3 89,976 0 89,976
O&E=SANLEEN HEEZHI
3,229,000 = 14l 3,229
OXMISAXNLEN AYHLALEH(SS)
83,717,000& = 14l 83,717
OXMISAXNLEN AYHASEH(DR)
3,030,000& = 14 3,030
HYRIZH (BEL) 51,393,462 50,881,659 511,803
JlE3l 360,813 358,081 2,732
HAEE Jl=Z | 313,905 310,910 2,995
201 L4l 111,725 108,730 2,995
01 At 22l 111,725 108,730 2,995
Of[get=&dl] 27,375
ORAN2E SHAL 13,335,000& 14 13,335
OZTU2RHAAE2HHI
1,170,000& = 120 & 14,040
og+¢] 79,150
O+ (2H) 50,0003 = 491 » 122 24,400
oO=zxxg(2%) 50,000& = 321 * 365¢ 54,750
Ol=&Hl] 5,200
ORA2E SHA L 5,200,000 * 14l 5,200
202 044l 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
ORN2Y SAAHY 5,000,000& = 14l 5,000
203 ¥R =&l 111,980 111,980 0
01 JI22E 2= 89,100 89,100 0
OJI228 YR =al 89,100
oOzZ=(J&EY) 52,800,000 = 14l 52,800
ORZ+=(JI&EY) 36,300,000& * 14 36,300
02 A H R =X 18,680 18,680 0
OFAItatg =& 18,680
O 100Z Mt Xl 80,000& = 100¢! 8,000
O 100 = Dtel @ 60,000& = 178¢! 10,680
04 NI 4,200 4,200 0
FAM2EHRFIHI 350,000& = 123 4,200
204 AR HH| 85,200 85,200 0
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SN B2
M HH2IZH(SR)
& 123l (&)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
01 ¥R A 85,200 85,200 0
ONMIYSEIH (BEY) 85,200
o=Z= 650,000& = 121 « 123 7,800
OR=Z= 400,000& = 12l x 12& 4,800
O4s 350,000& = 221 = 123 8,400
O=gll=dlHAZ 400,000& = 121 = 12& 4,800
o5 A& 100,000& =« 2321  12& 27,600
OBAALZE SHZE 150,000& = 1221 = 12& 21,600
OSEZAT SHSANLAE
50,000& = 172l = 12& 10,200
ANSE Jl22Zl 13,995 14,280 A 285
201 ¢er24] 9,495 9,780 A 285
01 At 22l 9,495 9,780 A 285
Oflger=&Hl] 5,715
ORAN2E SHAH L 5,715,000& =+ 14l 5,715
Olal] 3,780
ORAN2E SHAA 3,780,000& * 14l 3,780
202 o4l 4,500 4,500 0
01 = LH 4 Hi 4,500 4,500 0
SA2Y BHHA * 1Al 4,500
WREHE JI2 3l 10,160 10,120 40
201 ¢4l 5,660 5,620 40
01 At 2t 2l 5,660 5,620 40
Oflget=&tl] 3,140
ORAN2E SHAL * 14 3,140
Ol3l] 2,520
ORAN2E S8
7,00 2 o+ 128 2,520
202 oddl 4,500 4,500 0
01 = LH &4 1l 4,500 4,500 0
ORN2Y SAAHY 4,500,000& = 14l 4,500
g2 10,662 10,680 A18
201 Let24d] 6,162 6,180 A18
01 AP 2teltl 6,162 6,180 A18
Olgg+24l] 2,382
ORAN2E SUNHA 2,382,000& * 14l 2,382
Ol=&Hl] 3,780
ORAN2E SUNHY 3,780,000& * 14 3,780
202 oddl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
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SN B2
M HH2IZH(SR)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORNM2Y SHAY 20,000& = 32 = 75¢ 4,500
MAE D 2 3 bl 12,091 12,091 0
201 L2l 7,591 7,591 0
01 At 22l 7,591 7,591 0
Olger=&Hl] 2,950
ORA2E SHA L 2,950,000& * 14 2,950
Ol=&Hl] 4,641
ORA2E STHAHL 7,0008 + 32 * 221 4,641
202 O4dl 4,500 4,500 0
01 = LH 4 Hi 4,500 4,500 0
ORNM2YE SHAY 20,000& = 302! = 75¢ 4,500
FHOIAHHIZH 51,032,649 50,523,578 509,071
SRl 51,032,649 50,523,578 509,071
101 @124 dl 39,978,498 39,559,966 418,532
01 2= 33,789,473 33,596,701 192,772
oJlzs 24,192,353
(OR=R-IEN 22,858,593
o R (HSH)
7,074,910& = 12 « 123 84,899
o4=2(HEHM) 6,556,750& * 121 * 12& 78,681
0 43(2858) 4,868,089 = 301 * 12& 175,252
0 5=2(3088) 4,513,6662 * 332 * 12& 1,787,412
0 62(2658)
3,843,3423 = 18721 » 12& 8,624,460
072 (1788)
3,079,391& = 2002 » 12& 7,390,539
0 8=2(10&8)
2,260,335& = 1101 » 128 2,983,643
0 92(388) 1,520,795& » 9501  12& 1,733,707
OXNEH 1,030,083
o NE&(2253)
5,051,9443 = 321 » 12& 181,870
o AT AH(145 8)
2,945,182& » 2491 » 12& 848,213
O LINH(73) 3,160,580& = 121 » 12& 37,927
O LIIH(83) 2,784, 750& « 121 » 128 33,417
O HAH(1088) 2,765,859 * 721 « 12& 232,333
o= 9,291,120
OH0M=¢ 2,773,932
o d2=¢ 1,527,780& 564021 * 23| 1,723,336
o 2=¢ Jhit=3 643,320
-254 0] &f 130,000& =« 189921 » 12& 294,840
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el
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O 02 Of¥
J2 02 0
RH ¥

Y 02

g
[mm

o

[(Z52D)

=

0

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-20E 0] &f~25H 0] 2t
110,000& 128921  12& 168,960
-15E 0] &~20 0] 2t
80,000& = 49921 » 123 47,040
-10E 0l &t ~15 0] 2t
60,0003 = 11421 « 123 82,080
-5@ 0] &~10 0 2t
50,000& = 84921 » 123 50,400
o IRERF+E 407,276
=g B
4,365,250& = 10Q1 » 4.1% = 128 21,478
SS2l®
3,679,060& * 10321 * 4.1% » 12& 186,441
6=t
2,920,570 * 11521 » 4.1% » 12& 165,246
720
2,185,970& = 1221 » 4. 1% = 128 12,906
e PR
2,598, 180& = 121 » 4. 1% * 12& 1,279
TNERHS
2,699,940& = 1501 » 4. 1% * 128 19,926
ONAHENMSLY 941,216
o IEY 480,240
—bH < Xt 40,0003 = 4448 « 123 213,120
-2 AE 20,0003 = 9729 » 12& 233,280
I BIEp N
30,0003 * 949 » 12& 33,840
o HHEHIEXSY 160,976
-NSstW(S=A)
443,100& * 221 x 43| 3,545
-NSESW(ISS12ANAINYA)
433,880 = 3501 x 43| 60,744
-NESN(Its=22NSHALA)
377,790& = 132! x 43| 19,646
-NSSN(LUHSsS12ANAINY)
419,090 = 202! = 43| 33,528
-Nssu(Lts=s225HNY)
310,805& = 352! x 43| 43,513
o BOtEEAY
1,000,000& * 2501 * 12& 300,000
OE422+y 514,944
o FIEIZR+Y 40,080
-3 50,000& = 1421 = 123 8,400
23 40,0003 = 662! » 12& 31,680
0o S4UR4Y 474,864
JledE29(53)
50,000& = 921 » 123 5,400
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SN B2
HE: HYRYFH(BRD)
SR LR CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
"SR ARG (AN63)
60,000& = 121 » 123 720
~S 4N 24L(A-72015)
50,000& = 721 « 12& 4,200
~SANR LY ((ABI=X)
70,0003 = 382 « 123 31,920
SSARR RIS (ASIET)
30,000& = 382 « 123 13,680
OxZU2R+HE 1,641,183
o HelPR+Y 150,280
-43 (285 8)
4,708,030 = 221 * 9% » 123 10,170
-53 (308 2)
4,365,250 « 29¢! * 9% » 12&8 136,720
-2 (9s58)
3,138,400& = 1Q! = 9% » 12& 3,390
o AZAZRE 1,490,903
-2z (53)
12,5253 = 201 = 21A12t = 12& 6,313
-2 (63)
10,6823 = 17121 = 21AI2t = 12& 460,309
-2 (73)
9,649% * 22901 = 21Al2t = 12& 556,825
-2 8HN (83)
8,663% * 8501 » 21AI12F = 123 185,562
- BHN (93)
7,830 * 9991 » 21AI12F = 123 195,343
=
12,3393 = 4021 * 21A12t = 128 12,438
-XI & AH(20& S0l 5t)
9,439& = 102 = 21AI2t = 128 23,787
-XEAH21E5 S0l 4)
10,073& = 15Q1 = 21A12t = 12& 38,076
-2IIH(72)
7,422% « 11 * 21A12F » 123 1,871
—& LA
10,2963 = 4021 = 21A12t = 128 10,379
O &HIEAS 3,419,845
o dMg Al 130,000& = 68321  12& 1,065,480
o BEFItH| 2,354,365
-YptAl4Z (285 )
4,708,030& * 321 * 60% * 23] 16,949
-YBtR53 (305 8)
4,365,250 = 3121 x 60% * 23| 162,388
-YBtReZ (265 5)
3,679,060 = 18921 * 60% * 23l 834,411
-YprR7Z (175 8)
2,920,570 * 22321 * 60% * 23l 781,545




2N
X ZH -
L= B

el

5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
- P A8= (105 2)
2,185,970& * 10921 » 60% * 23| 285,925
-2 B9z (32 8)
1,460,850% * 8321 » 60% * 23| 145,501
-2 (2258)
4,787,550 * 32! * 60% » 23l 17,236
-XNEAH(1458)
2,699,940& * 2501 » 60% * 23| 80,999
-2IIM(72)
3,160,580& = 29! = 60% * 23| 7,586
~I (105 )
2,598,180& = 7Q! * 60% * 23| 21,825
ODJIEt 306,000
CHSRHASE 50,000& = 10Q! = 123 6,000
OHUWER+E 30,000,000& * 109! 300,000
02 JIEt& B = 1,114,736 1,102,470 12,266
Oo¥azz 946,927
oJlE=a 645,605
o B&(2358) 2,903,470 = 301 * 12& 104,525
ozd(11ag)
2,147,140& = 2121 » 128 541,080
oO=g 289,056
o LEEEREZ 56,882
324 881,770& = 2321 = 23| 40,562
-H 2 Y3 (20 0] A ~25E 0] 2F)
110,000& = 321 = 123 3,960
- 2202 (15E 01 &4~204 01 2})
80,000& = 221 » 12& 1,920
- 222 (10 01 &4~15E 01 2})
60,000& = 221 « 12& 1,440
A2 Y03 (5901 A4 ~104 0] 2F)
50,000& = 15¢1 = 123 9,000
o HAEHE 21,503
SRS (R
40,000& = 112l = 12& 5,280
OIES g (RYIE)
20,000& = 3221 x 12& 7,680
HESE(RINEIHAT)
30,000& = 221 x 12& 720
“HASHIEESS(DSSRISAAXNSR)
420,790 = 291 * 43| 3,367
-NHUESHIEZ (DS WSS 23 X
SHXH) 371,290& = 321 » 43| 4,456
o XU2RES 122,975
A2 RS (HH23SF)
18,1473 = 301 « 30AI2H » 123 19,599
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2MAE
gl

HE: HYRYFH(BRD)
= Ol 2

Hel: SHAHH 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NEI =N EE T T
13,4203 = 21Q1 = 30AI2H » 12& 101,456
USSP (B )
40,000 * 12 = 128 480
LEN Y (EF)
30,000& = 401 « 123 1,440
o AHIEAS 87,696
-EESO(EE2358)
2,903,470 = 321 x 60% * 23| 10,453
~EEEINH(=F NS E)
2,147 1402 * 2121 = 60% * 23| 54,108
-QID B A (B ®)
2,903,470 = 32! = 86% * 1/30 * 15& 3,746
-2 A (&)
2,147,140 = 2191  86% * 1/30 * 15 19,389
&
O J|Et 12,266
0o IBPESYD
3,250,000& * 3721 » 0.85% » 12& 12,266
OaRx5 167,809
oJlE= 1,165,200 * 2491 * 80% * 63 134,232
O dHUg Al 130,000& = 2491 = 6& 18,720
ONZATRAY
6,8783 * 2491 * 15AI2t = 68 14,857
03 RIAHAZZ2THE =+ 5,074,289 4,860,795 213,494
Okz&E=x¥ 316,157
oJlE=s 1,314,170 821  12& 126,161
o=g 189,996
o&==¢ 132,986
- UG A 100,000& * 8¢l = 12& 9,600
e e PSP RSy 110,000& = 821 = 12& 10,560
-Pl =g 60,000& = 82l » 12& 5,760
SR 50,000& = 821 » 12& 4,800
-JtAH 2 24l 50,000& = 821 = 12& 4,800
-wE 2 A 50,000 = 82! = 12& 4,800
2324 862,000& = 821 = 23| 13,794
-ZHEF O 1,039,510& * 821 * 23| 16,633
-2 867,320& = 821 » 43| 27,755
Xl & EhE bl 862,090& 82! = 53] 34,484
o NE==E 8,040
-b = Xt 40,000 * 82! = 12& 3,840
-2 2E 20,000& = 132 « 123 3,120
-2 2AILEILAZ 30,0003 * 321 x 123 1,080
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SN B2
M HH2IZH(SR)
Sl BUoIY Y (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S EEEY;
17,8353 = 8Q1 » 20AI2 » 123 34,244
o HXRERI=E
95,120& = 821 » 15 11,415
o AtHSHIBEx+Y 3,311
1SSt 275,900& = 321 43| 3,311
ostzdilsted 1,624,209
oJl2= 1,364,750& = 3621 » 12& 589,572
oO=g 1,034,637
o dMg Al 160,000& * 3621 » 12& 69,120
o AY&¥HH 120,000& = 362! = 12& 51,840
o Adl==& 60,0003 = 362! = 123 25,920
o SxgR+Y 90,000& = 362! « 12& 38,880
o JtAHE & H| 110,000& * 3621 » 12& 47,520
o wE e x| 140,000& * 3621 » 12& 60,480
o d2=¢ 1,005,400& * 3621 * 23| 72,389
o BEFOtHI 1,226,850& * 36021 * 23] 88,334
o Jl¥=¢ 1,005,400& * 3621 * 43| 144,778
o M= @ 1,005,400& * 3621 * 53] 180,972
o NE=E 28,080
—bH < Xt 40,0003 = 2691 = 12& 12,480
-2 AE 20,000& = 53¢l « 12& 12,720
-2 LIEIHAZ 30,0008 * 821 x 12 2,880
0 £B224E
20,8053 = 362! * 20AI2t = 12& 179,756
o giraERIt=E
110,960& * 3691 * 10 39,946
o AtHEHI BEx4¢ 6,622
-1sSstu 275,900 = 62! = 43| 6,622
OdEE xR 1,788,305
oJle=s 1,569, 120& » 5621 » 12& 1,054,449
o=¢ 733,856
o dMZAlH| 160,000&  56¢! = 12& 107,520
o Ag&¥d=¢ 70,0003 = 5621 = 123 47,040
o d2=¢ 784,5603 = 562! * 23] 87,871
o E2==YIt&3 60,0008 = 5121 * 12& 36,720
o ExgR+Y 100,000& = 621 = 23| 1,200
o BEFOtHI 1,176,840& 56021 * 23| 131,807
o NE==E 37,560
N 40,000& = 30Q = 12& 14,400
LIS 20,000& = 7721 = 123 18,480
-SAIE O3
30,000& = 132 « 123 4,680
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SN B2
M HH2IZH(SR)
Sl o0y 2y CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S EEEY;
15,2403 = 5621 = 20AI2H » 12& 204,826
o HXRERI=E
81,2803 = 5621 » 15 68,276
o AtHSHIBEx+Y 11,036
-nssn 275,900& = 109! = 43| 11,036
OsZRH 186,869
oJl2= 1,470,430 » 621 » 12& 105,871
O HHUg Al 160,000& = 621 = 12& 11,520
OXIT&HASH 120,000& = 621 = 12& 8,640
ORg=¢ 50,000& = 621 = 23| 600
o&d2=¢¥ 735,220& = 691 x 23| 8,823
O&IZ==EItt= 60,000& = 621 » 12& 4,320
O B&E FOtHI 1,102,830& * 621 * 23| 13,234
ON=E=¢ 1,920
o i <Xt 40,000& = 32! =128 1,440
o RAINE 20,0004 = 221 « 123 480
CENEEENS 20,715
o N RLY
14,3853 = 621 * 20AI2t = 12& 20,715
OAXZE=E&FIH=E 76,7208 = 62 * 10& 4,604
OXHSHEZSE 6,622
o 1&&u 275,900& = 691 = 43| 6,622
OAN&zeaRA 285,687
oJlE=z 1,518,830& = 921 » 123 164,034
O dHgaldl 160,000& = 921 = 123 17,280
OXg&EA+E 120,000& = 921 » 12& 12,960
C&dZ=¥ 759,420 = 991 » 23| 13,670
O&HI==EIHe3 60,000& = 921 » 12& 6,480
O B&E FOtHI 1,139,130& * 9021 * 23] 20,505
ONE=E 6,000
o i <Xt 40,000& * 8¢l = 128 3,840
o BYLINE 20,000& = 921 » 12& 2,160
CEEEEYE) 31,202
0 Al2tel 2R4g
14,4453 » 901 * 20A12t = 12& 31,202
O¢Xtma FIt=Y 77,0408 * 92 » 10 6,934
OXtH&H Ex+¢ 6,622
ol1ss 275,900& = 621 = 43| 6,622
OJIEt 873,062
ORIAHLZZX EHZ
70,000,000& * 62l 420,000
O2MMSE ot (2—5)
35,000 = 121 = 252 » 12& 10,500
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2N
X ZH -
L= B

el

- B(EN) - NRAY - B S il &t o il
OANRsdad us ol
85,000& = 109! » 3« 2,550
CAUEE RE3 440,012
0 203 23
2,900,000 * 11621 * 4.5% » 12& 181,656
o AYPH 23
2,900,000& * 11621 * 3.1% » 12& 125,141
o LELEH BY=
2,900,000& * 11621 * 1.5% » 12& 60,552
o MtEERE =
2,900,000& * 11621 * 1.8% » 12& 72,663
1S = 1,189,200 1,189,200
02 g2l 1,189,200 1,189,200
OXgExt| 1,185,600
o=z 500,000& = 1@l » 12& 6,000
Oz 450,000& = 121 » 123 5,400
042, A= &(43)  400,000& * 32! * 12& 14,400
o5 A= 250,000 332! = 12& 99,000
o6, HTAH XIS At
155,000& * 22121 * 123 411,060
or7= 140,000& = 22491 » 12& 376,320
0892, A= AH(25S0I35t),7158~93,8
Ot= 105,000& = 19321 » 12& 243,180
OHYIE(2E MYR)
105,000& 24021 » 12& 30,240
OMSARAIA=Z  300,000& = 121 = 12& 3,600
303 Z& 3 2,084,357 2,084,357
02 4A0= 2,084,357 2,084,357
OgerA 2,003,243
O & 2120%01 LK
2,450,000& = 69021 = 20% * 172.5% 583,223
O & 2120~50%01 LK
2,450,000 = 69021 » 40% * 125% 845,250
O & 2150~90%01 LK
2,450,000& = 69021 » 40% * 85% 574,770
FaZE 81,114
O & 2120%01 Li
1,850,000& * 37921 * 20% * 172.5% 23,616
O & 2120~50%01 LK
1,850,000& * 3721 » 40% * 125% 34,225
O & 2150~90%01 LK
1,850,000 * 3721 = 40% * 85% 23,273
H=2E3s8 7,780,594 7,690,055
=== 6,604,594 6,514,055
OZBRRAH=RES 42,498,408,000& = 8.25% 3,506,119

_36_




=
ok
0

2N
X ZH

=
ok

%mo

o 0
R0 &
80 ~J
0H 3J
R0 3
50 Ko

_.\
0

e 9l

<

no
Kl
El
E=]
o
o
o
<
N~
WH3r -
m<l T
RS
(o)) [ep) (a5 o o
o (o)) N~ o o
> S e & 2
o (o0} (o)) (<o) (<o)
N~ © Yo NS N~
™~ N A At
a [~ = =
<
=
© < [ep) (V]
— 0 — —
< 9. o x
ar v
MO x x x W_
B oS ® % S
o o o
. o o o ES
> 8 >
[T P ) 3 o
< |5 5 3 ms
I |o @ S e
— ~ [®) < 00 o
T | Y oy I
N e aY 0
= IS % il
() X)) A0
ool W om A
F R B W ol
& H = H M
o of i A0 o
S |or o o ook
R’ |Fo Ao Ao ol Mo
k0O JO O @) mr O
. [aN]
= o
-

_37_



